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int main(void)

{
int count;
long large no;
double real no;

init vars();
fprintf (stderr, “$$$ %d %1d %1f”, count, large no,

fprintf (stderr, “### %d %1d %1f”, count, large no,

calc fl(&count, &large no);

fprintf (stderr, “@Q@E@ %d %1d %1f”, count, large no,

}
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[kgu@lily sample2]$ gdb a.out

GNU gdb (GDB) Fedora (7.3.50.20110722-16.fcl6)

Copyright (C) 2011 Free Software Foundation, Inc.

License GPLv3+: GNU GPL version 3 or later <http://gnu.org/licenses/gpl.html>
This is free software: you are free to change and redistribute it.

There is NO WARRANTY, to the extent permitted by law. Type "show copying"
and "show warranty" for details.

This GDB was configured as "x86_ 64-redhat-linux-gnu".

For bug reporting instructions, please see:
<http://www.gnu.org/software/gdb/bugs/>. ..

Reading symbols from /home/kgu/2012U2/ch05/sample2/a.out...done.

line sum += data;

return line sum;

/******************************************************************************/
int main (void)

{

pid t pid = 1;




gdb 7| &2 0| 2 (2)
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list '3

(gdb) 1list

33 int i;

34 int read lines;
35 int f£dl;

36 int £d2;

37 int £d3;

38 char buffer [BUFFER SIZE];

39 char result[RESULT SIZE];

40 char file name[FILENAME SIZE];
41

42 int line sum;

((sfele))

break & O 2 calc_line_sum S EIQ| DX|™H AN

(gdb) break calc line sum
Breakpoint 1 at 0x4009e0: file mp calc.c, line 18.

break BH 2 Z 60 A 24210 SX|H 28

(gdb) break 60

Breakpoint 2 at 0x400ab7: file mp calc.c, line 60.




Starting program: /home/kgu/2012U2/ch05/sample2/a.out
Breakpoint 2, main () at mp calc.c:60
60 pid = fork();

(gdb) print

$1 =

(gdb) print read lines
$2 = 32767

(gdb) print fdl

$3 =

(gdb) print line sum
$4 = 51

(gdb)

break HEHO Z 23R 2210 X|HE 27

(gdb) break 23

Breakpoint 3 at 0x400al9: file mp calc.c, line 23.



continve 2O 2 A= XA

(gdb) ¢
Continuing.
Detaching after fork from child process 8161.

Breakpoint 2, main () at mp calc.c:60
60 pid = fork();
(gdb)

delete HHO Z MX|™ 2 ALK

(gdb) delete 2

continue HEHO 2 A|= XlH

(gdb) ¢

Continuing.

Detaching after fork from child process
Detaching after fork from child process
Detaching after fork from child process
Detaching after fork from child process

Breakpoint 1, calc line sum (

line=0x7fffffffe320 "753 443 469 159 449 819 784 137 803 351\np\r@") at mp calc.c:18
18 int line sum = 0;
(gdb)




(gdb) where

#0 calc_line sum (line=0x7fffffffe320 "753 443 469 159 449 819 784 137 803 351\np\re")
at mp calc.c:18

#1 0x0000000000400b43 in main () at mp calc.c:74

(gdb) backtrace

#0 calc_line sum (line=0x7fffffffe320 "753 443 469 159 449 819 784 137 803 351\np\r@")
at mp calc.c:18

#1 0x0000000000400b43 in main () at mp calc.c:74
(gdb)

CC - g O rjgl C | N ke
step BEE= next JHO Z L3 THA X
(gdb)

21 i ;1< 10; 1i4+4) |
(gdb) s
oy sscanf (&line[i*4], "%d", s&data);
(gdb) s

Breakpoint 3, calc line sum (

line=0x7fffffffe320 "753 443 469 159 449 819 784 137 803 351\np\r@")

at mp calc.c:23
line sum += data;

23
(gdb) next

21 i ;i< 107 i+4) |
(gdb)
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(gdb) display i
2: 1 =0

(gdb) ¢
Continuing.

Detaching after fork from child process 9108.

Breakpoint 2, main () at mp calc.c:60
pid = fork();

quit FHOE2 =7

(gdb) quit
A debugging session is active.

Inferior 1 [process 9501] will be killed.

Quit anyway? (y or n) y
[kgu@lily sample2]$
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